Bt T AT R — ik ©
I 3 I 4

x &y EBEONEHETLHITIE, xhy
D EH B OOLREOHMTHE AR U Tl
niE7ben, FUThneEEE, &b
N TRICIZ A2 D & 9 728 2T T
MaxHEZRI CIZL, ZThnbiEd N

<4 L

y ORBOMIHEE Z A2 D!

4x — 3y = 18 D

—bx + 6y =—18

XEITy D ED DL OMHEZ R Ui
THIZNE, mHFOXDOx £2iXy 2 T
U272 % & 9 728 HaiF ¢ ffaxtfi % [\
CIZT 256005,

8 ey = 36 | [Ee[Hi[0EE
Y —Bx & 6y =—18 |L=del=lxluzg]
+) * o L+ & = Jix[f=LE]
3x = 18 [= ][+ ]ig[r=LeE]

X =6

x=6% DO HXUZA

4x — 3y = 18

4X6 — 3y = 18

24 |— 3y = 18

—3y = 18| —

—3y = —6

—3y  —6 BE L7503
—3 -3 BEEEZ D
y = 2

<4 L

X DR ONEREZ Z A Z D!

] 3] [x3]

2x — 3y = —8 D
3x + 4y = 5 —-®

Tex — 9y =—24

2)”ﬁx+sy=1o
—17y = —34

y = 2

y=2%Z%Q@ o0 IR A

3x + 4y =
3x +4X2 =

3x|+8|=

o ot ot Ot

3x =




